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Research Methodology

Section Id : 549470357
Section Number : 1
Mandatory or Optional : Mandatory
Number of Questions : 59

Section Marks : 70

Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0

Is Section Default? : null

Question Number : 1 Question Id : 54947025387 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

A teacher can motivate the students by

Options :

Giving suitable prizes
1. ¥
Giving proper guidance

Giving examples

Delivering speech in the class



Question Number : 2 Question Id : 54947025388 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The aim of education should be

Options :

To develop vocational skills in the students
1. ®

To develop social awareness in the students
2. %

To Prepare the students for examinations
3. %

To prepare the students for practical life
4. &

Question Number : 3 Question Id : 54947025389 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The quality of school education is exclusively depending upon
Options :

Infrastructural facilities



Finance

2. %

Internal support
3. %

The quality of teacher education
4. ¢

Question Number : 4 Question Id : 54947025390 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

In the following. which one is not predominant in modern teaching method?

Options :

Activity based teaching
1. %

Leamer- centered method
2. %

Teacher — centric
3.¢



Simait board

Question Number : 5 Question Id : 54947025391 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

In the following aspects. which is not figured in Choice Based Credit System?
Options :

Students to purse courses of their choice

1. ®
Students confine their basic course
2. ¢
Students learn extra courses
3 %
Students acquire more than the required credits
4. %

Question Number : 6 Question Id : 54947025392 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The major disadvantage in computer based testing is



Options :

Efficiency
1. %
Automatic scoring with instant feedback
2. %
Less human error
3. %
Factual knowledge
4.

Question Number : 7 Question Id : 54947025393 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The most important trait of a student 1s

Options :

Sense of responsibility

Obedience
2.%



To speak truth

Co-operation

Question Number : 8 Question Id : 54947025394 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

In the following, which one 1s not considered as characteristic of research?

Options :
Testing Hypothesis
1. %
Systematic work
2. %
Establishing cause and effect relationship
3. %
It is not a process
4.9

Question Number : 9 Question Id : 54947025395 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



type of research that test the validity of already made hypothesis.

Options :
Descriptive
1, ®
Confirmatory
2. ¥
Explanatory
3. %
Exploratory
4. %

Question Number : 10 Question Id : 54947025396 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In the post- positivist approach of research. the following types of research got
emphasized  except research.

Options :

Phenomenological



Ethnographic

2. %

Action
3. %

Experimental
4. v

Question Number : 11 Question Id : 54947025397 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The research outcomes of which type of research cannot be generalized to other
situations?

Options :
Descriptive
1. ¢

Historical

Experimental

Fundamental



Question Number : 12 Question Id : 54947025398 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which salient feature is not figured in the qualitative research?

Options :
Naturalist approach
1. %
Objective measurements
2.
It deals with human behavior
3 %
Non-numeric data
4, %

Question Number : 13 Question Id : 54947025399 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one is not covered in the quantitative research approaches?

Options :

Simulation



Inferential

2. %

Experimental
3. %

Naturalist
4. ¢

Question Number : 14 Question Id : 54947025400 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The fundamentals of integrity, credibility and transparency are important in

Options :

Business
], %

Entertainment
2. %

Research Ethics
3.¢



Diplomacy

Is Section Default? : null

Question Id : 54947025401 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type :
NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (15 to 21)



Read the following passage carefully and answer the questions from 15 to 21:

Many people believe that science and religion are contrary to each other. But his notation
1s wrong. As a matter of fact, both are correlated to each other. There is no doubt that the method
of science and religion are different.

The method of science is observation, experimentation and experience. Science takes it
recourse to progressive march towards perfection. The rules of religion are faith, intution and
spoken word of the enlightened. In general, while science is inclined towards reason and
rationality. spiritualism is the essence of religion.

In earlier times when man appeared on Earth, he was over-awed at the sight of violent
and powerful aspects of nature. In certain cases. the usefulness of different natural objects of
nature overwhelmed man. Thus began the worship of forces of nature — fire, the sun, the rivers,
the rocks, the trees. the snakes etc. The holy scriptures were written by those who had developed
harmony between external nature and their inner self. Their objective was to ennoble, elevate and
liberate the human spirit and mind. But the priestly class took upon itself the monopoly of
scriptural knowledge and interpretation to its own advantage.

Thus. the entire human race was in chains. Truth was flouted and progressive. liberal and
truthful ideas or ideas expressing doubt and scepticism were suppressed and their holders
punished. It was in these trying circumstances the science emerged as a savior of mankind. But
1ts path was not smooth and safe. The scientists and free thinkers were tortured. This was the fate
of Copernicus, Galileo. Bruno and others. But side by side science gained ground.

Sub questions



Question Number : 15 Question Id : 54947025402 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

‘What is the reasons for man to worship the forces of nature?

Options :
The holy scriptures advocate the worship of forces of nature

1. ®

The worship elevates and liberates the human spirit and mind
2.¢

The worship makes man believe in faith and intuition
3. %

Forces of nature teach us spiritualism
4. %

Question Number : 16 Question Id : 54947025403 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

According to the passage both science and religion :
Options :

Emerged out of the fear of man



Emerged from the desire of man to worship the forces of nature

2. %

Employee different methods of enquiry
3.¢

Work at the cross-purpose of each other
4. %

Question Number : 17 Question Id : 54947025404 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What was the objective of the authors of the holy scriptures?

Options :

To teach man the methods of worshipping nature
1. ®

To educate and raise the human spirit and mind
2. %

Work at the cross-purpose of each other
3. %



To develop harmony between external nature and their inner self
4. ¢

Question Number : 18 Question Id : 54947025405 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

According to the passage, at present juncture there is a need to:

Options :
Free man from all sorts of bondages
1. *
Judiciously mix the principles of science and true spirit of religion
2.¢
Teach people to workshop the forces of nature
3. %
Encourage spiritualism as much as possible
4.%

Question Number : 19 Question Id : 54947025406 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Why it is said in the passage that. “science emerged as a saviour of mankind™?



Options :

Science takes recourse to progressive march towards perfection

1. ®
Science is inclined towards reason and rationality
2. %
Man was bound in chains by religious orthodoxy
3.¢
The free thinkers and enlightened men were tortured
4. %

Question Number : 20 Question Id : 54947025407 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Truth was ;

Options :

Flouted

Progressive



Both flouted and progressive
3.¢

Intuition

Question Number : 21 Question Id : 54947025408 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Find the synonym of the word ‘belief” used in paragraph 2.

Options :

Observation
1. %

Experience
2. %

Enlightened
3. %

Faith
4.
Is Section Default? : null

Question Number : 22 Question Id : 54947025409 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



The major components of communication except

Options :

The actual message being sent

With confused ideas

2.¢

The encoding of the message
3. %

The decoding of the message
4.%

Question Number : 23 Question Id : 54947025410 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Interpersonal communication of exchange of ideas between two or more persons in the
form of the following except

Options :

Voice



Facial expression

2. %

Body language and gestures
3. %

Self —talk
4. ¢

Question Number : 24 Question Id : 54947025411 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Written communication refers to

Options :
Verbal
1. v
Non- verbal
2. %
Wordless
3 %
Unstructured



Question Number : 25 Question Id : 54947025412 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The interaction analysis with observing classroom language in order to find out

Options :

The text book effectiveness
1. ®

Learning and teaching
2.¢

Students behavior
3. %
How the language works

4. %

Question Number : 26 Question Id : 54947025413 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What type of problem is arising from expression?

Options :



Perception

1. ®
Cultural
2. %
Semantic
3.¢
Wrong presumption
4. %

Question Number : 27 Question Id : 54947025414 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The communication word derived from

Options :

French
1. ®

Latin
2.

German



Greek

Question Number : 28 Question Id : 54947025415 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In the following. which is not considered as mass media?

Options :

Socialization
1. %

Education
2. %

Entertaimmment
3. %

Interpretation
4. &

Question Number : 29 Question Id : 54947025416 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The following aspects are covered in the analytical reasoning except



Options :

Blood relations

1. %

Statements and assumptions
2.

Conditions and grouping
3. %

Ranking and time sequence test
4.%

Question Number : 30 Question Id : 54947025417 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Find out the wrong term in the following number series: 3.7, 15, 30.63.

Options :
30
1.¢
63
2. %
15



L

Question Number : 31 Question Id : 54947025418 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What comes next in the following series: 3W. 7V. 11U, 15T.

Options :
197
1. %
20P
2. %
22Q
3. %
195
4.

Question Number : 32 Question Id : 54947025419 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In the following, which one is the greatest one?

Options :



(b
B,
=
-2

], %

6/12
2. %

9/12
3.9

8/12
4. %

Question Number : 33 Question Id : 54947025420 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The ratio of market prices of Wheat and Paddy is 2:3 and the ratio of quantities
consumed in a family i1s 5 : 4. Find out the ratio of expenditure of wheat and paddy

Options :
8: 15
1. %
6:5
2. %
Bt



h
N

Question Number : 34 Question Id : 54947025421 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Suppose the average of fifty numbers 1s 28. If two numbers . namely 25 and 35 are
discarded. the average of the remaining numbers is nearly

Options :

27.29
1. %

2792
2.

29.27
3. %

212
4, %

Question Number : 35 Question Id : 54947025422 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Calculate the simple interest on Rs. 5200 for 2 years at 6% per annum Rs.



Options :

624
1.
600
2. %
650
3. %
450
4. %

Question Number : 36 Question Id : 54947025423 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

‘What is the nature of the logical argument?

Options :

True or false

Valid or invalid
2. %

Verifiable or unverifiable



Justified or unjustified

Question Number : 37 Question Id : 54947025424 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The origin of ‘Fallacy’ comes from the

Options :

Latin
1.¢

Greek
2. %

German
3. %

Sweden

4, #

Question Number : 38 Question Id : 54947025425 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is the essence of “Stipulative’ definition ?



Options :

Always true

1. ®
Sometimes false and sometimes true
2. %
Always false
3 %
Neither true nor false
4.«

Question Number : 39 Question Id : 54947025426 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The deduction logic is to be carried on from aspect.

Options :

Universal to particular
1.¢

Particular to universal



Particular to particular

Universal to universal

Question Number : 40 Question Id : 54947025427 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

reasoning can be regarded as an instrument that enables mankind to grasp
“unknown’ with the help of “known’.

Options :
Demonstrative
1. ®
Inductive
2.9
Speculative
3. %
Deductive
4. %

Question Number : 41 Question Id : 54947025428 Display Question Number : Yes Is Question Mandatory : No Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

‘Pratyaksha’ means

Options :
Inference
1. %
Implication
2. %
Perception
3. ¢
Transcendental
4, %

Question Number : 42 Question Id : 54947025429 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

“Vyapati’ refers to

Options :

Fallacies



Inference

2. %
Implication
3 %
Invariable relation
4.
Is Section Default? : null

Question Id : 54947025430 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type :
NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (43 to 45)



Note:

Study the following Pie-chart carefully and answer the questions 43 — 45. It gives data on
how the people of a town in different age groups are represented.

10 - 20 yrs

36°

96°
108"" 20-30 yrs

30-40 yrs

Sub questions

Question Number : 43 Question Id : 54947025431 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The number of children whose age is less than 10 years is

Options :



1. %

5600
2. %

6200
3. %

6000
4. &

Question Number : 44 Question Id : 54947025432 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The number of people in the age group (20 —40) 1s

Options :
26000
1. %
25500
2.9
25000



-3
N
h
=
—_

Question Number : 45 Question Id : 54947025433 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The number of people whose age 1s above 40 years is

Options :
9000
1. v
8500
2. %
9125
3. %
2000
4. %
Is Section Default? : null

Question Id : 54947025434 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type :
NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (46 to 49)



Note:

Study the following table carefully and answer the questions 46 — 49. It gives the data on
promotion of employees in different banks during 2017-22.

Bank / Luck Bank | Maha Bank | Nag Bank | Oris Bank | Punj Bank | Del Bank
Year

2017 48 46 52 44 37 39
2018 50 47 50 32 — 46
2019 46 40 50 42 38 35
2020 38 48 36 51 35 39
2021 32 44 46 45 48 40
2022 32 39 47 41 46 43

Sub questions

Question Number : 46 Question Id : 54947025435 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What 1s the ratio of total employees who got promoted by Luck Bank and Maha Bank
over all the years together?

Options :

1. ¢

fad

2




[S—
(W)
-3
—
Lad
tad

2. %

133:134
3. 0%

132:134
4. %

Question Number : 47 Question Id : 54947025436 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is the average number of employees promoted by Oris Bank over all the years
together ?

Options :

44
1. %

39.50
2. %

A5
3. &

42.50

4. &



Question Number : 48 Question Id : 54947025437 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is the total number of employees who got promoted in all the banks together in
the year 2019 ?

Options :

251
1.v

234
2. %

243
3. %

266
4, ®

Question Number : 49 Question Id : 54947025438 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Number of employees promoted by Punj Bank in the year 2020 forms approximately
what percent of the total number of employees promoted by all the banks together in
that year ?

Options :



1. ®
90 %
2. %
14 %
3.9
19 %
4, ®
Is Section Default? : null

Question Number : 50 Question Id : 54947025439 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In the following devices. which device enables the users to verify a person’s identity?

Options :

Barcode reader

Finger print scanner
2.¥



Scanner

Keyboard

Question Number : 51 Question Id : 54947025440 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What does WWW stand for ?

Options :

Microsoft
1. %

World Wide Web
2.9

Where Why What
3.

Web Website World
4, %

Question Number : 52 Question Id : 54947025441 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



‘e-mail’ stands for

Options :
Electronic mail
1.¢
Electromagnetic mail
2. %
Engine mail
3. %
Electric mail
4. %

Question Number : 53 Question Id : 54947025442 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In the Audio and Video compression, the term RGB means

Options :

Red. Grey, Blue



Red. Green. Blue

2. ¢

Red. Green. Block
3%

Red. Grey, Black
4, %

Question Number : 54 Question Id : 54947025443 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

URL stands for

Options :
Universal Resource Location
1. ®
Universal Response Location
2. %

Unified Response Location
3. %



Uniform Resource Locators
4.«

Question Number : 55 Question Id : 54947025444 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The central government initiative of ATL to create scientific temperament. innovation
amongst Indian students .What is the full form of ATL?

Options :
Atal Tinkering Lab
1. v
Applied Tech. Lab
2. %
Alternative Tech Lab
3. %
Atal Tech. Lab
4. %

Question Number : 56 Question Id : 54947025445 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



The MHRD's initiative to create digital learning environment for design is known as --

Options :
e- Acharya
], ®
e- Kalpa
2.¢
e- Yantra
3. %
e- Vidwan
4. %

Question Number : 57 Question Id : 54947025446 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The world leaders met at United Nations Headquarters in September 2000 focuses on
the available benefits with reference to aspects.

Options :

Artificial Intelligence



Nuclear Technology

2. %

Information and Communication
3.¢

Solid waste treatment technology
4, %

Question Number : 58 Question Id : 54947025447 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In the following. which one is not covered in the Millennium development goals?

Options :

Human Rights
1.V

Primary Education
2. %

Reduction of child mortality
3. %



Ensure environmental sustainability

Question Number : 59 Question Id : 54947025448 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In the following aspects, what is conservation?

Options :
Saving of plants and animals from natural death

1. ®

Political practices that support traditions
2. %

Preservation and wise use of natural resources
3.

Precipitation patterns to be maintained
4, %

Question Number : 60 Question Id : 54947025449 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which one 1s considered as non-renewable energy source?.

Options :

Wind
1. ®

Solar
2. %

Tidal
3 %

Coal
4.

Question Number : 61 Question Id : 54947025450 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one is Green House gas?

Options :

Oxvygen

Carbon dioxide
2.



Nitrogen

Methane

Question Number : 62 Question Id : 54947025451 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What 1s the main reason for Acid Rain to occur?

Options :

Deforestation
1. %

Forest fires
2. %

Industrial burning of coal and other fossil fuels
3.

Use of fertilizers and pesticides in agriculture
4. %

Question Number : 63 Question Id : 54947025452 Display Question Number : Yes Is Question Mandatory : No Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which Act gives rights to citizens to file cases against violations of environmental
norms?

Options :

Water

Forest

Alr

Environmental protection
4. v

Question Number : 64 Question Id : 54947025453 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Whose name is figured on the commission ° Education System in India’ in 19647

Options :

Radhakrishnan



Mudilier

2. %

Kothari
3.9

Sadler
4, %

Question Number : 65 Question Id : 54947025454 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which country has the most number of Universities in the world as on the year 2021?

Options :
China
1. %
India
2.
USA



Australia

Question Number : 66 Question Id : 54947025455 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What are the three cardinal principles of ‘SWAYAM™?
Options :

Access. Equity and Quality

1.¢
Quality, Career and Skills
2. %
Innovation. Collaboration and Diversification
3, %
Affordability, Equity and Quality
4, %

Question Number : 67 Question Id : 54947025456 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



According to National Skill qualification Framework ( NSQF) learning outcome levels
are---.

Options :

Skills, Experience Aptitude

1. %
Skills. Achievement and Aptitude
2. %
Knowledge . Skills, Experience
3. %
Knowledge. Skills and Aptitude
4. &

Question Number : 68 Question Id : 54947025457 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

How many life skills are there?

Options :



10

2.

12
3. %

14
4. %

Question Number : 69 Question Id : 54947025458 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

According to Indian Value system® VASUDHIVAKUTUMBAKAM ' reflects
‘Learning to --

Options :

Know
1. ®

Do
2. &

Live together



Be

Question Number : 70 Question Id : 54947025459 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Indian GST is based on the Canadian model and was made on the
recommendations of the cominittee.

Options :

R Rangarajan

1. ®
G S Balla
2. %
Vijay Kelkar
3.
Y V Reddy
4.%

Population Studies
Section Id : 549470358



Section Number : 2

Mandatory or Optional : Mandatory
Number of Questions : 70

Section Marks : 70

Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0

Is Section Default? : null

Question Number : 71 Question Id : 54947025460 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Demography is the Study of:
Options :
|« Population change

Fertility change
2. %

Mortality change

Migration change

Question Number : 72 Question Id : 54947025461 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The “de-facto™ census count considers people
Options :

v Counting persons found at the live of enumeration
1.9



Counting persons based on native place
Counting persons from their birth place

Counting persons migrated only
4. %

Question Number : 73 Question Id : 54947025462 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

e 1w < 10" IS das ] . :

‘Sex Ratio™ 1s defined as m India

Options :

.« The number of females per 1000 males

The number of males per 1000 females

2.
. Total number of females to the total population
3.
The total number of males to the total population
4.%

Question Number : 74 Question Id : 54947025463 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The concept of population potential means:
Options :



| Population growth

Population diseased

, » Population worked

Accessibility of population
4.

Question Number : 75 Question Id : 54947025464 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Age Specific death rate:
Options :
- Specific measure of mortality

Specific measure of fertility

5 % Specific measure of migration

Specific measure of distribution

Question Number : 76 Question Id : 54947025465 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

‘Life Table’ refers to:



Options :
Fertility

, » Morality

Migration
3. %

, » Growth rate

Question Number : 77 Question Id : 54947025466 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which country started census first?
Options :

United states
1. ¥

Canada

India

China

Question Number : 78 Question Id : 54947025467 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



When was the last census in India?

Options :
| % 2001

, o 2011

1920

3. %

1951

4. %

Question Number : 79 Question Id : 54947025468 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

When was the first All India censes attempted?
Options :

o 1872

L« 1871
1873

1874

4. %



Question Number : 80 Question Id : 54947025469 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which is the 15™ census of India?

Options :
2001

2011
2.¥

1991

1981
4. %

Question Number : 81 Question Id : 54947025470 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

First censes in India after Independence

Options :
| 1951

1961

2. %

L 1971



1981

Question Number : 82 Question Id : 54947025471 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Polyandry:
Options :

- A wife with more than one husband

- A wife with one husband

s #» A wife with no husband

A wife with two husbands

Question Number : 83 Question Id : 54947025472 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Morbidity
Options :
Reproductivity

Fertility

2. %



, » Nuptiality

4 v Sickness

Question Number : 84 Question Id : 54947025473 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The aim of National Population Policy. 2000 is
Options :

.« Toachieve a stable population by 2045

, » To achieve a stationary population

- To achieve a optimum population

To achieve a desirable population
4. %

Question Number : 85 Question Id : 54947025474 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

NITI Aayog full form:
Options :

National Institution of Technical Industry



National Institution for Transforming India

, » National Institute of Teacher Industry

o % National Institute of Tramning India

Question Number : 86 Question Id : 54947025475 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is the old name of NITI Aayog:

Options :
| v Planning Commission of India

, » Planning Association of India

, » Judiciary of India

L Finance Commission of India

Question Number : 87 Question Id : 54947025476 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

NITT Aayog serves as
Options :

- The apex “public policy think tank™ of the Government of India



A Body of Higher Education

2. %
A Body of School Education
3. %
. A Welfare Board
4.%

Question Number : 88 Question Id : 54947025477 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who is the present vice-chairman of NITI Aayog, 2022?
Options :

v Shri Suman Bery

) % Nirmala Sitharaman

, » Vizaya Sai Reddy

Mithun Reddy

Question Number : 89 Question Id : 54947025478 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who is the Head of NITI Aayog?



Options :
- Narendra Modi

Droupadi Murmu

2. %

2 % Venkaiah Naidu
Amith Saha

4, %

Question Number : 90 Question Id : 54947025479 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In which year NITI Aayog established?
Options :

|« 1® January. 2015
1* January, 2016

1% January. 2017

L 1¥ January, 2014

Question Number : 91 Question Id : 54947025480 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



The District with Highest Sex-Ratio in Andhra Pradesh by 2011 census
Options :

| » Chittoor

, » Nizamabad

Krishna
3 %

Guntur

Question Number : 92 Question Id : 54947025481 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The District with Lowest Sex-Ratio in Andhra Pradesh by 2011 census
Options :
| » Khammam

- Prakasam

, » Hyderabad

, » Rangareddy



Question Number : 93 Question Id : 54947025482 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

According to 2011 census. the highest literacy observed in the District
Options :
, « Hyderabad

Rangareddy
, » Guntur
Krishna
4. %

Question Number : 94 Question Id : 54947025483 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

According to 2011 census, the lowest literacy rate observed in the District.
Options :
.« Mahaboobnagar

) % Vizayanagaram

, » Chittoor

Prakasam
4, %



Question Number : 95 Question Id : 54947025484 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

According to 2011 census, the less inhabited District n Andhra Pradesh

Options :

| » Vizayanagaram

Srikakulam

2. ®

; » Adilabad

Y5 R

4. %

Question Number : 96 Question Id : 54947025485 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

According to 2011 census, the highest population density observed district in Andhra
Pradesh

Options :

L West Godawari

, % Hyderabad

3 % Krishna

, = Rangareddy



Question Number : 97 Question Id : 54947025486 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

According to 2011 census the least population density observed district in Andhra
Pradesh

Options :

West Godawari

1. %

Vizayanagaram
2. %

Guntur

Adilabad

4. &

Question Number : 98 Question Id : 54947025487 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Census-2011 is in the order in Andhra Pradesh after its formation.
Options :

| » 6% census

- 5T census

7o census



4 % A% census

Question Number : 99 Question Id : 54947025488 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Censes-2011 is in the order after independence in India
Options :
th o
L@ 7% censes

6% census
). ®

, % 3™ census

i} 8™ census
4.

Question Number : 100 Question Id : 54947025489 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The censes collected information on Transgenders
Options :

L 2011-census

2001-census



1991 -census
3. %

4 % 198l-census

Question Number : 101 Question Id : 54947025490 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

According to 2011 census, the population Density in India
Options :
370

1. %

Question Number : 102 Question Id : 54947025491 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

According to 2011 census, the sex-ratio in India
Options :

-T.l"}
] % 952



940

2.9
. 965

3. %
960

4, %

Question Number : 103 Question Id : 54947025492 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

According to census — 2011, the literacy rate of India
Options :
| » 64.04

78.00

68.80

3. %

74.04
4.

Question Number : 104 Question Id : 54947025493 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



According to 2011 census. which district is with highest proportion of Urban
population in Andhra Pradesh?

Options :

| v Hyderabad

) Visakhapatnam

West Godawari

Guntur
4. %

Question Number : 105 Question Id : 54947025494 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

According to 2011 census, which district is with lowest proportion of urban
population in Andhra Pradesh?

Options :

Mahaboob Nagar

West Godawari

2. %

Chittoor
3, %



Y 5R

Question Number : 106 Question Id : 54947025495 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The year in which first-time Millennium Development Goals framed?
Options :

% 2001

2015
2013

2014

Question Number : 107 Question Id : 54947025496 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The meaning of Amenorrhea
Options :
- Absence of menstruation

, » Absence of marriage



Absence of diseases

Absence of Family Planning
4. %

Question Number : 108 Question Id : 54947025497 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Anti-natalism meaning
Options :

Theory of Birth control
Theory of Death control
Theory of Migration

Theory of Distribution

Question Number : 109 Question Id : 54947025498 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Baby-boom
Options :

|« Thesurge in Burths



The surge in Deaths

2. %
, » The surge m Migrants

. The surge in Distribution
4,

Question Number : 110 Question Id : 54947025499 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Balancing Equation refers to:
Options :
. = Refers to working force

Refers to population changes over a period of time
2.

, » Reters to Morbidity

Refers to Family Planning
4. %

Question Number : 111 Question Id : 54947025500 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Bram-drain refers to:
Options :



| % Refers to emigration of illiterates

Refers to highly skilled population

3 % Refers to elderly population

Refers to Refugees

Question Number : 112 Question Id : 54947025501 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Infant mortality
Options :
| » Mortality before birth

Mortality of live-born infants before 1% birthday

; » Mortality during adolescence

L w Mortality of a child

Question Number : 113 Question Id : 54947025502 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Labour force:



Options :
. Dependent Population

Child Population

2. ®

v Economically active population

Old population

Question Number : 114 Question Id : 54947025503 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Life expectancy:
Options :

. An indicator of Mortality conditions
1‘ -

An mdicator of Fertility conditions
An mdicator of Migration conditions

, = An mdicator of Population distribution

Question Number : 115 Question Id : 54947025504 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Myers-Index refers to:
Options :
. Age misreporting
1‘ -

Sex misreporting
2. %

3 % Population pyramid

Aging
4. %

Question Number : 116 Question Id : 54947025505 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The first world population conference held in
Options :
L x 1944

, o 1954

1964

3. %

1974

4. %



Question Number : 117 Question Id : 54947025506 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

International conference on Population and Development held in :

Options :
|« 1984

o 1994

1974

3. %

1964

Question Number : 118 Question Id : 54947025507 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The first International Women’s conference held in:
Options :

o 1975

1985

2. %

1977

3. %

1987



Question Number : 119 Question Id : 54947025508 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

International conference on Gender Inequality in Education held in :

Options :
L 2022

L% 2000

2009

3. %

, % 2008

Question Number : 120 Question Id : 54947025509 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

India’s Comprehensive National Population Policy evolved in:
Options :

o 1967

1977

1987



1999

Question Number : 121 Question Id : 54947025510 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Role of GIS in the community
Options :

|« Provides comprehensive view and understanding

, » Provides photographic look

3 % Provides fun to see

Provides mterest to see

Question Number : 122 Question Id : 54947025511 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

How GIS used in Human Geography?
Options :

To display spatial relationships

, » Lo observe settlements



To see population

, » To look photographic view

Question Number : 123 Question Id : 54947025512 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Major benefit of the Human Geography
Options :
v Mapping the position, and changes to see

To observe

To look photography

To see settlements

Question Number : 124 Question Id : 54947025513 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

“Aging”
Options :
Completed years of age



Age reached

2.3

Increase relative Proportion of old persons in the age structure’
3.
L Increase relative proposition of work force

Question Number : 125 Question Id : 54947025514 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Singulate Mean Age at Marriage (SMAM)
Options :
Single age

, » Age groups
An estimate of the mean age at first marriage

% Age at marriage

Question Number : 126 Question Id : 54947025515 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Stable population:

Options :



| Sitting population

Moving population
Floating population

Population closed to migration and with un-changing structure

Question Number : 127 Question Id : 54947025516 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Real founders of Demographic studies in modern times
Options :

| John Grount
Will Patty
3 % Poter R.cox

Richard Price

Question Number : 128 Question Id : 54947025517 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



“The population problem: A study in Human Evolution™ is brought out by:
Options :

- Thomas Robert

. Carr Saunders

, % William Patty

Richard Price

Question Number : 129 Question Id : 54947025518 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

“Optimum Theory of Population™ is developed by :
Options :
William Patty

Carr Saunders

John Graunt

Richard Price



Question Number : 130 Question Id : 54947025519 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

“Intermediate Fertility Variables™ used by:
Options :
.« Davis and Blake

Liskin

2. %

Eland-Johnson

4 » Lopez.C

Question Number : 131 Question Id : 54947025520 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

“Stable population” first defined by:
Options :

| % J.A.ROss

Dublin and Lotka
2.9
Shryock, H.S.

4w Stegel HS.



Question Number : 132 Question Id : 54947025521 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

“Gravity Model” of migration is formalized by:
Options :

|« Geroge Zipt

Mc Namara. R.

2. 8

; « Shaw, R.P.

S.A. Stouffer
4, %

Question Number : 133 Question Id : 54947025522 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who conducts NFHS-India?

Options :
- The Ministry of Health & Family Welfare. Government of India

The Ministry of Home Affairs, Government of India

s x The Ministry of Education. Government of India

The Ministry Women and Child Welfare. Government of India



Question Number : 134 Question Id : 54947025523 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Nodal Agency of NFHS. India
Options :
UGS

1. %

ITIPS
2.¥

. » ICMR

, » ICTE

Question Number : 135 Question Id : 54947025524 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

How many NFHS are there?
Options :

1. = 5



Question Number : 136 Question Id : 54947025525 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

NFHS-1 Conducted in
Options :
| = 1982-83

, o 1992-93
L x 1994-95
L« 1995-96

Question Number : 137 Question Id : 54947025526 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Latest GIS application in population
Options :

Preparation of interview schedule

, » Preparation of Questionnaire

; « Modelling the relationship among population variables



Preparation for survey

Question Number : 138 Question Id : 54947025527 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

How is GIS used m Human Geography?
Options :

- Preparation for survey

Preparation of interview schedule

Preparation of Questionnaire

To Display spatial relationships and linear networks
4.9

Question Number : 139 Question Id : 54947025528 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Urbanisation refers to:
Options :

v The proportion of the total population living in urban areas



, % Urban density

- Urban potential

Urban Migration

Question Number : 140 Question Id : 54947025529 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

“Abortion” refers to
Options :

- Termination of Uterus

Termination of Ovum

, » [lermination of Pregnancy

Termination of reproductive system



